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Please choose the correct answer, (F74T gt I 1) (1x100 Mark)
A MailExp train shall have at least one after loco and as rearmost vehicle.
(A)AC coach  (B) SLR (C)LVboard  (D)Saloon

Dead engine must be manned minimum by rank employee. —
(A) Loco Pilot  (B) Asst Loco Pilot (C) Train Manager (D)

If engine is not cranking what is the switches to be checked? .

A. Battery Knife Switch  B. Engine Control Switch C. MUSD Switch D. All the above
If engine shuts down with hot engine alarm which safety device operates?

A. ETS B. LWS C. OSTA D. OPS

A goods train having 56 wagons, the BP pressure in engine shall be ____ and in
Bv kg/sq.cm.
A 50486 B. 50,48 C. 4850 D. 6.0 50
Immediate action of ALP when LP is not controlling of train?
A. Apply emergency Valve B. Repeat signals C Inform PRC  D. Inform CCC
If BP & FP pipes are wrongly connected ---- will fail.
A Locois failed B. Formation (Train) Brakes C. Loco brakes D All
In ALCO locos turbo super charger turbine is rotated by
A Gears B. Motor C. Exhaust gas D. Clutch
In Dsl Locos Main reservoir safety valve is set at KG/em2
A 105 B. 8 C. 9 D. 95
In AC/DC loco load meter will not respond if f
A. CK1 & CK2 welded B. CK3welded C. BothAandB D. GFC is welded
W in WAP stands for
Al) Wagon B.) Broad Gauge C.) Goods D.) Passenger
Arno Convertor is used to convert
A.) Convert Single Phase to three phase supply B). Converts three phases to single phase supply
C) Converts to DC D). Converts to AC
Catenary Wire consists of:
A). Cadmium copper wire.  B). Cadmium aluminium wire.
D). Molybdenum copper wire.
DJ Stand for

A). Loco Earthing Switch B). Tap Changer Resistance C.) High Voltage Circuit Breaker
D). Air Blast Circuit Breaker

C). Cadmium steel wire.

Output Voltage of Arno is

A). 220 V B). 380 V C). 1100V D). 750 V

Power Supply used for traction is

A). 1100 KV B). 25 KV Cy. 110V D). 415 KV S

7 The couplers used to connect two units of DEMU is called:

A) Shaku coupler B) CBC coupler C) ABC coupler D) H type coupler
I'he governor fitted in EMD loco is type:

A) GE governor B) WW governor C) MCBG governor D) Nane
APU stands for....

A) Alternate power unit B) Auto power unit ). Auxiliary power unit D) None
The brake valve used for application of loco brakes only is:

A) A-9 B) SA-9 C) HS-4 D) D-1 flap
The brake valve used for application of Train brakes only is:

A) A-9 B) SA-9 C) HS-4 D) D-1 flap
What is the colour cade for the B.P pressure pipe?

A. White B. Red C. Green D. Yellow
What is the colour code for the F.P pressure pipe?

A White B. Red C. Green D. Yellow

DV isolating handle in position indicates DV is in isolated position.
A Vertical B. Horizantal C. 60 degrees D. None of these
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25 DV isolating handle in

position indicates DV is in working position.
A. Horizontal

B. Vertical C. 45 degrees D. None of these
26. Whenever stopped on gradient for any reason it is essential to apply the brakes
A. BA9 B. AQ C. A9&SASQ D. Hand brake
27. Unit of Air Flow Indicator (AF1) is

A. Kglem2 B. Pound/inch  C Wagonreading D. Km/h
28. Reasons for heavy fuel

consumption
A. Usage of dynamic brake B Taking advantage of coasting
C. Heavy brake bindi

g ng on the formation D. Allthe above
To achieve fuel econo

my loco pilot should have
A Good driving skills

C. Optimum utilization of notches D. Allthe above
30 Rest required for Running staff at Head Quarters for duty less than 8 hours is
A. 8 Hours B. 12 Hours C. 16Hours D. 14 Hours
31. Rest required for Running staff at Qut Station for duty more than 8 hours is
A. 12 Hours B. 8 Hours C. 10 Hours D. 14 Hours
32. Running staff upto 45 Years of age will undergo Periodical medical examination once in
A. 3 Years B. 2 Years C. 4 Years D. Yearly
33. Running staff between 45 to 55 Years of age will undergo Periodical medical examination once in

29.

B. Knowledge of road and signals

A. 3 Years B. 2 Years C. 4Years D. Yearly
34. Running staff 55 Years and above age will undergo Periodical medical examination
«A. 3 Years B. 2Years C. 4Years D. Yearly
35. PCEE Stands for

A.  Public Chief Electrical Engineer
36. CELE Stands for

A.  Chief Executive Loco Engineer B. Chief Executive Liaison Engineer
C. Chief Electrical Loco Engineer D. Chief Electrical Loco Executive
37. CRIS Stands for

A Central Railway Institute for Safety B. Crew Running Information System
C. Central Railway Information System D. Centre for Railway Information System
38. CMS Stands for
A. Chief Medical Supervisor
C  Crew Management System
39 Emergency Braking Distance depends upon
A. Load B. Speed C Gradient
40. Height of side buffer should be maintained between
A 1105 mm to 1030 mm B. 1150 mm to 1000 mm
C. 1150 mm to 900 mm D. 1105 mm to 800 mm
41_Which Caution boards provided before Neutral S_ection-~—_~~-
™) Electrical Engine Stop Board (B) Caution Un wired Turn Out
EC; DJ Open (C)DJ Clqse
42 Which Caution boards provided after Neutral Se-:;tuon-----_l.
(A) Electrical Engine Stop Board (B) Caution Un wired Turn Out
(C) DJ Open . (D) DJ Clos_e _ ‘ _
43 Ijuring traffic block, which type vehicles movement is blocked in traffic block section?
(A) Electric hauled (B) Diesel hauled (C) Steam ‘hauled . (D) All of the above
44, During power block, which type vehicles movement is blocked in power block section?
| A) Electric hauled (B) Diesel hauled (C)_Steam hauled (D) All of the above
45 In Air flow indicator, ............ colgtljr needle is called as reference needle and e COlOUr
i as indicating needle.
neeglem'fhﬁz"??ded B) Red. Green C) Green,Red D) Red, White
46, wheg.euer céttle run over takes place, if BP dropped the immediate duly of crew is to switch ON
... light.

A) Head light B) Cab light C) Marker light D) Flasher light

B. Principal Chief Electrical Engineer

B. Chief Mechanical Supervisor
D. Crew Movement System

D. Allthe above
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e BP angle cut-off cock is

Whenever cattle run over takes place, if BP dropped due to front sid - eoe.

broken, the duty of LP is to maintain BP pressure is by clnsinlg
A) MR-4 COCK B) Rear side addl. BP coc  C) Front side Addl

D) Both side addl. BP cocs

"BP angle coc

., and

Signal sighting committee comprises of ____, _—
(A)TI, LI, PWI (B)LI, SI, TI (C)LI, PWI, S (D)SS,LLTI
Signal sighting committee will go on footplate inspection once in ____months.
(A)3 (B) 2 (Cy4 (D)5
Calling ON signal cannot be taken “OFF"during ______failure. _
(A) Signal (B) Track (C) Point (D) Block instruments
Shunt signal below starter will show light in “ON "position.
(A)Red (B) Green (C) White (D) No
Shunt signal protects .
{A)Points (B) Track (C) Signal (D) None
When Shunting Permitted Indicator is defective, s the authority for the LP.
(A)T/369 3(b)+PHS (B)T/409 (C)T/512 (D) PHS

Sub-Rules are framed by -
(A) Authorized Officer (B) Reporting Officer  (C) Competent Authority
General Rules can be amended by

(A)Railway Board  (B) Railway Tribunal  (C)Joint consultant machinery (D) GM

No Railway Servant directly connected with the working of Trains shall take or use any alcoholic

drink, sedatives, narcotics or stimulant drug or preparation before the commencement of his duty

(D) DRM

(A) 06 Hours {(B) 08 Hours (C) 10 Hours (D) 12 Hours T
A green flag by day and a white light by night moved as high and as low as possible indicate -----.
(A) Train stalling  (B) Train parting (C)Shunting (D) none of the above
If train parting is observed by any Railway Servant signal should not be exhibited.
(A) Right (B) Danger (C) No (D) None
What is the minimum brake power percentage issued to closed circuit rake from originating station?
(A)95 % (B) 90 % (C) 100 % (D) 75%
What is the minimum brake power percentage for closed circuit rake at en-route station?
(A)95 % (B) 90 % (C) 100 % (D). 75 %
What is the minimum brake power percentage issued to premium rake from originating station?
{A) 95 % (B) 90 % (C) 100 % (D) 75%
What is the minimum brake power percentage issued to coaching train from originating station?
(A) 95 % (B) 90 % (C) 100 % (D) 75%

. Which one of the following is wrong? The Stop signal which controls the movement of trains

approaching a station are

(A). Outer (B) Home (C) Starter (D) Routing 4
What immediate action a loco pilot shall take in case of accident to his train?

(A). Put on Flasher Light (B). Switch off head light at night (C). Protect the adjacent trac

(D). All of the above |
What is the authority to be given to the Loco Pilot to the train to pass manual stop signal at ‘ON’ or 3

Semi-Automatic Signal working as manual stop signal at ‘'ON’ in the Automatic Signalling territory?
(A). T/369 (1) ~ (B). T/369 (3b) (C). T/409 (D). TIA 602
Advance authority to pass defective signals is

(A). T/369(3b) (B). T/369(1) (C). T/369 (3b) + PHS (D).  T/369 (1) + PHS
Authority to proceed for Relief Engine\Train into an Occupied Block Section.

A) T\A 602 (B). T\B 602 (C). \C 602 (D). T\D 602

Gate signal is identified by .
(A) G Marker (B) P marker (C) 1B Marker (D) ID Marker

Route indicators are treated as — )
(A) Permissive (B) Stop Signals (C) Duplicating (D) Repeating

When LP observes foggy weather in the block section, a speed restriction of kmph in

Absolute Block System.

(A) 60 (B) 45 (C) 30 (D) none of the above



71. Normal life of
(A) 10 years

72. Group of employees in
(A) Protest

73. Encashment given at th

a detonator is .

(B) 5 years (C) 12 years (D) 15 years
volved in employment close the work is called ...
(B) leave (C) strike (D) None of these.

e time of retirement for ............ nos. of LAP leave.
[A} 300 (B) 280 (C) 350 (D) 250
74. Child care leave for female employee given up to ............ days maximum.
(A) 660 (B) 560 (C) 700 (D) 730
75. Standard Form No. 5 relates to -—--
A. Issue of major penalty B. Issue of suspension
C. Issue of minor penalty D. Nomination of Inquiry Officer
76. Standard Form No. 11 relates to ----
A. Issue of major penalty B. Issue of suspension
C. Issue of minor penalty D. Nomination of Inquiry Officer

77.When Home is defective and pre-warning is given, the train shall be admittedby
(A) Taking off Calling ON (B) taking off Shunt signal (C) Taking of Co acting signal (D) Piloting
78. When a signal is newly erected or shifted, it shall be jointly inspected by .

(A) SI.TI &LI (B) PWI TI&SI (C) PWI TI&LI (D) none of the above
79. ODC shall be allowed to be attached by a train for transport only with the prior sanctionof
{A) COM/CRS (B) DRM/DOM (C) DME/DEE (D) none of the above
80. Speed of a class “C" ODC by day shall be kmph.
L(A) 25/15 (B) 45/30 (C) 20/10 (D) 75115
81. When class “C" ODC is attached by a train , and shall proceed as a escort.
(A) SLI, TI, sl (B) TXR,TI,PWI (C) PA LILSTENO (D) none

82. What is the meaning HRMS in Railway?
A) Human Railway Management System  B) Human Resource Management System
C) Human Development Management System D) None of them
83. What is the meaning of UMID in Railway?
A) Unified Medical Identity Card B) Unique Medical Identity Card
C) Uniform Medical Identity Card D) None of them
84. What is the meaning of Model SOP in Railway?
A) Model Sanction of Power B) Model Schedule of Power
C) Model Selection of Power D) None of them
85. What is the meaning of RELHS in Railway?
A) Retired Employees Liberalized Health Scheme
B) Railway Employees Liberalized Health Scheme

C) Released Employees Liberalized Health Scheme D) None of them
86. CMS is aimed to provide
;ﬂﬂ‘ Position of crew at HQ/OS. B) Maintain status wise records

C) PR, maintaining LR, PME details D) All of the above
87. Objectives of CMS

A) Optimization of crew B) Monitoring of LR and training schedules
C) Monitoring of 10hrs duty and HOER D) All of the above
88. What is TA

A) Traffic Apprentices B) Traffic Advice C) Train Acknowledgement

i D) Train Application
89. Who is authorized for crew grading.

A) CCC _ B) CLI 9) Anyone of A& B _ D) Branch officer
90. Difference between “Train departure time” and "Actual crew Sign ON time" is called

A) PAD B) PDD C) PCDO D) None of the above
91. First Train in India started in the year

A) 1827 B) 1853 C) 1947 D) 1951

92. Railway board Headquarters situated at

A) Mumbai  B) New Delhi C) Kolkata D) Hyderabad
93. RDSO Headquarters situated at

A) Mumbai B) Lucknow  C) Kolkata D) Hyderabad



94 How many Zones in Indian. Rlys

A) 18 B) 20 C) 19 D) 17
95. Integral Coach Factory is located at

A) Mumbai  B)Chenai  C) Kolkata D) Hyderabad
96. Chitaranjan loco motive works is located in

A) Mumbai  B) Chenai  C) New Delhi D) West Bengal
97. Rail Coach Factory is located at

A) Mumbai  B) Chenai C) Kolkata D) Kapurtala
98. Modern Rail Coach Factory is located at

A) Mumbai  B) Chenai  C) Rayabareli D) New Delhi
99. Rail spring karkhana is located at

A) Mumbai B) Chenai C) Gwalior D) New Delhi

100.............. is the Chief of safety Departments. Of Railway.
(A) PCSO (B) PCME (C)PCOM (D) CRSE
Rajbhasha Optional Question: - (1x10)
101. In which states, Urdu has been declared as Official Language?
(A) UP (B) Andhra Pradesh (c) Rajasthan {d) Gujrat
102, According to Official Language Rules, under which region Andaman & Nicobar Islands
come?
(A) A Region (B) B Region C) C Region (d) D Region
103, At present how many languages are enlisted in the Eighth Schedule of the Constitu¥ion?
(A) 23 (B) 22 (C 25 (D) 28
104, What is the Foreign Language included in the Eight Schedule?
(A) Nepali (B) English (C) French (D) German
105. In which year, Hindi (Parliament) Section was established in Railway Board?
(A)1956 (B) 1960 (C) 1962 (D) 1955
106. When was the Official Languages Act 1963 passed?
(A)10.05.1963 B) 10.05.1965 (C) 10.05.1966 (D) 10.05.1962
107. When is 'Hindi Day' celebrated every year?
(A)14 September (B) 20 September (C) 14 June (D) 14 May
108. When was the Official Languages Act 1963 amended?
(A)1967 (B) 1960 (C) 1962 (D) 1955
109. What is the Official Language of Arunachal Pradesh?
(A) Nepali (B) English (C) Hindi (D) Bengali
110. From when did the Section 3(3) of Official Languages Act take effect?

(A) 26 January 1965 (B) 26 January 1966  (C) 26 January 1967(D) 26 January 1968

¢
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